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module MyRegister4db(
input clk,
input Load,
input [3:0] IN,
output reg [3:0] OUT
)
always @(posedge clk) begin
if (Load) OUT <= IN;

end

endmodule
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module topl(
input wire clk,
input wire [15:0] SW,
output wire [7:0] SEGMENT,
output wire [3:0] AN
)3

wire [3:0] Load_A, Co;
wire [3:0] A, A_IN, A1l;
wire [31:0] clk_div;

MyRegister4b RegA(.clk(clk), .IN(A_IN), .Load(Load A), .OUT(A));
Load_Gen
mo(.clk(clk), .clk Ims(clk_div[17]), .btn_in(SW[2]), .Load out(Load A));
clkdiv m3(clk, 1'bo, clk div);
addsub_4b m4(.A(A), .B(4'b6001), .Ctrl(SW[e]), .S(A1));
assign A_IN = (SW[15] == 1'b0)? Al: 4'bo000;
DispNum m8(.clk(clk), .HEXS({A, Al, A_IN,
4'bo000}), .LES(4'b0), .points(4'be), .RST(1'bo), .AN(AN), .Segment(SEG
MENT));

endmodule
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set_property PACKAGE_PIN AC18 [get_ports clk]
set_property IOSTANDARD LVCMOS18 [get ports clk]

set_property PACKAGE_PIN AB22 [get_ports {SEGMENT[©]}]
set_property IOSTANDARD LVCMOS33 [get_ports {SEGMENT[©]}]



(CEBSETAT.D

set_property
set_property

set_property
set_property

set_property
set_property

set_property
set_property

set_property
set_property

set_property
set_property

(CEBEETAT.D

set_property
set_property

PACKAGE_PIN
IOSTANDARD

PACKAGE_PIN
IOSTANDARD

PACKAGE_PIN
IOSTANDARD

PACKAGE_PIN
IOSTANDARD

PACKAGE_PIN
IOSTANDARD

PACKAGE_PIN
IOSTANDARD

PACKAGE_PIN
IOSTANDARD

AA22
LVCMOS33

AD21
LVCMOS33

AC21
LVCMOS33

AB21
LVCMOS33

AC22
LVCMOS33

AAl1Q
LVCMOS15

AF10
LVCMOS15

[get_ports {SEGMENT[7]}]
[get_ports {SEGMENT[7]}]

[get_ports {AN[©]}]
[get_ports {AN[O]}]

[get_ports {AN[1]}]
[get_ports {AN[1]}]

[get_ports {AN[2]}]
[get_ports {AN[2]}]

[get_ports {AN[3]}]
[get_ports {AN[3]}]

[get_ports {SW[O]}]
[get_ports {SW[O]}]

[get_ports {SW[15]}]
[get_ports {SW[15]}]
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A DA
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input wire clk,
input wire [15:0] SW,
output wire [7:0] SEGMENT,

output wire [3:0] AN

)5

/] FAEE

wire
wire
wire
wire

/] WA
clkdiv U_div(clk, 1'b0, clk_div);

// Load ¥filE5
wire LoadA, LoadB, LoadC;

uLA(.clk(clk),

uLB(.clk(clk),

Load_Gen

Load_Gen

Load_Gen

uLC(.clk(clk),

/] B/ E R
addsub_4b addA(.A(A_out), .B(4'b0001), .Ctrl(SW[@]), .S(A1)); // SW[e]

PN/ 98

[3:0] A_out, B_out, C_out;
[3:0] A_in, B_in, C_in;

[3:0] A1, B1; // HIE/HRSm
[31:0] clk _div;

.clk _Ims(clk _div[17]),
.clk _Ims(clk _div[17]),

.clk _Ims(clk _div[17]),

.btn_in(SW[2]),

.btn_in(SW[3]),

.btn_in(SW[4]),

.Load_out(LoadA));

.Load _out(LoadB));

.Load _out(LoadC));

addsub_4b addB(.A(B_out), .B(4'b0001), .Ctrl(SW[1]), .S(B1)); // SW[1]

PN/ 98



// C EIANZEFEA (31 1)

wire [3:0] muxC_out;

my_mux4tol 4b muxC(
.S(SW[8:71),
.I0(A out),
.I1(B_out),
.I2(C_out),
.13(4'b000e0),
.o(muxC_out)

)5

// A, B, C HiNIL#EH

assign A _in = (SW[15] == 1'b0) ? A1l : muxC_out;
(SW[15] == 1'b@) ? B1 : muxC_out;
(SW[15] == 1'be) ? 4'boeLO : muxC_out;

assign B_in

assign C_in

/] =7

MyRegister4b RegA(.clk(clk), .IN(A_in), .Load(LoadA), .OUT(A out));
MyRegister4b RegB(.clk(clk), .IN(B_in), .Load(LoadB), .OUT(B_out));
MyRegister4b RegC(.clk(clk), .IN(C_in), .Load(LoadC), .OUT(C out));

/] BRI
DispNum u_disp(
.clk(clk),
HEXS({A_out, B_out, C_out, muxC_out}),
.LES(4'b0000),
.points(4'bo0o9),

.RST(1'b0),
.AN(AN),
.Segment (SEGMENT)
)5
endmodule
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module top3(
input wire clk,
input wire [15:0] SW,
output wire [7:0] SEGMENT,
output wire [3:0] AN
)3

/] EAE A

wire [3:0] A_out, B_out, C_out;
wire [3:0] A_in, B_in, C_in;

wire [3:0] A1, B1; // HE4/H M



wire [31:0] clk_div;

/] BRI
clkdiv U_div(clk, 1'be, clk _div);

// Load #=EHl{ES
wire LoadA, LoadB, LoadC;
Load_Gen

ULA(.clk(clk), .clk ims(clk _div[17]), .btn_in(SW[2]), .Load out(LoadA));

Load_Gen

uLB(.clk(clk), .clk ims(clk _div[17]), .btn_in(SW[3]), .Load out(LoadB));

Load_Gen

uLC(.clk(clk), .clk ims(clk _div[17]), .btn_in(SW[4]), .Load out(LoadC));

/] EIE/ B

addsub_4b addA(.A(A out), .B(4'boeel),
FEbIn /

addsub_4b addB(.A(B_out), .B(4'boeel),
FEbIn / ik

/] LR (3k 1)

wire [3:0] muxC_out;

my_mux4tol 4b muxC(
.S(SW[8:71),
.I0(A out),
.I1(B_out),
.I2(C_out),
.13(4'b0000),
.o(muxC_out)

)5

// ALU itk
wire [3:0] ALU out;

ALU_4b ALU(
.S(SW[6:51),
.A(A out),
.B(B_out),
.C(ALU out)

)3

// A, B, C HiNIL#EH
assign A _in = (SW[15] == 1'b0) ? Al :
(SW[15] == 1'b@) ? B1 :

assign B_in

.Ctr1(SW[e]), .S(A1)); // sW[e]

.Ctr1(SW[1]), .S(B1)); // SW[1]

muxC_out;
muxC_out;

assign C_in = (SW[15] == 1'be) ? ALU out : muxC_out;



/] EAEIE

MyRegister4b RegA(.clk(clk), .IN(A_in), .Load(LoadA), .OUT(A out));
MyRegister4b RegB(.clk(clk), .IN(B_in), .Load(LoadB), .OUT(B_out));
MyRegister4b RegC(.clk(clk), .IN(C_in), .Load(LoadC), .OUT(C out));

/] BRI
DispNum u_disp(
.clk(clk),
HEXS({A_out, B_out, C out, ALU out}),
.LES(4'b0000),
.points(4'bo0oo),

.RST(1'b0),
.AN(AN),
.Segment (SEGMENT)
)5
endmodule
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